PRYILAE {1t FER -5 PP FREpL
{;37}«15 T{fﬁt"g EF i B T Ep > #c % ar
(R s = - A 94/11/08 70 -

1. The force F acting on the frame

shown in Fig. 1 has a magnitude of
500 N and is to be resolved into two
components along members AB and
AC. (1) Determine the angle 6,
measured below the horizontal, so
that the component F,. is directed

from A toward C, and (2) the
component F,, by wusing the

parallelogram law and trigonometry.

. Two forces act on the joint shown in

Fig. 2. (1) Express each force in
Catesian vector form, and (2)
determine the magnitude and the
coordinate direction angles of the
resultant force.

3. The 300-kg engine supported by three
cables AC, AB and AD as shown in
Fig. 3 is in equilibrium. (1) Draw
the free-body diagram for the ring at
A. (2) Write down the two scalar
equations of  equilibrium. 3
Determine the tensions in cables AB
and AD.
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4. Determine the magnitudes of forcesF,, F,andF, for equilibrium of the particle

shown in Fig. 4.

5. Thefoot segment is subjected to the pull of two plantarflexor muscles as shown in
Fig. 5. Determine the moment of each force about the point of contact A on the

ground.
Fp=1200

"4
7

Fl=go0n
3
100 frim ™
\_._:x;j

& m'l-‘-a--—a?_s mmj

Fig.5
6. Determine the moment of the forceF about the a-a axis shown in Fig. 6 and

plis

express the result as a Cartesian vector.
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